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SANSKRIT
( Major )

Paper : 3.1

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following questions : 1x5=5

(a) What term is used to mean the Chapters of
the Ramayana?
(b) CFEII: FETTRR
Who is ‘Seam<ada:’ referred to here?
(c) What is the meaning of the term ‘TAUET?

(d) What is the name of the Santiparvan,
- Chapter 191 of the Mahabharata?

(¢) How many types of Dana are there
according to the Santiparvan (Chapter 191)
of the Mahabharata?
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(2) (3)

2. Explain any two of the following : 5%2=10 (b) SEQAT &4 97 dg Mg I |
(a) SoTaoe: ST orar RgFYE: | ' TR d9d A ARl FoEdd |l
TferaT SfeaRe e TRl il (c) SfafEe Rl e SfafTadd |
= NN 2
(b) wdeIfvma: wha: ¥ 3 Ry TSR IR X
Ird: FEEHAT G et || 5. Answer any two of the following : 10%x2=20
(c) SHHE FS T FAAT (Al | (a) AT TR 30|
AU TR AT 74 A9l W W FAEREAE  Tgiere |
Who is the speaker here? To whom it was
3. An ing : =
swer any two of the following : 10x2=20 stated? Explain the features of the first two

Aéramas as you find in your prescribed text

(a) Write a note on the elements of poetic
from the Mahabharata.

beauty of Chapter I of the Balakanda of

the Ramayana. (b)) Write a note on the contents of
(b) Present the contexts of Chapter I of the the Santiparvan, Chapter 191, il
Mahabharata.

Bilakanda of the Ramayana.

(c) Elucidate the idea contained in the (c) Write short notes on g4’ and ‘BET.

following : 6. Read the following passage and answer the
(i) ZRATSET FHTHEA | questions in Sanskrit :
2 e FHOIFAG TR 5= W qIfa: gfoGafd &1 T =W
q9q7| :

F e RS rTRTeRAT: AR P A e g T
4. Explain any two c')f the following : 5%2=10 i"; @ﬁmﬁﬁmﬂ%ﬁ S s ’EFHTE oF: W‘T;E
(a) o T 9TE TR I | TE Wl 1 T ¥ TR afchfed T, IO WIS ot

R AT RITET S HTaTd || [ o @ SR aRaf S
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A9 YR T FOEH, F45T IGAT: I
o ol T AT fea 1 o e @ gaw: iy
Ty, ST S — AT AT 78 °: o
Wl ROl WA qene TehE Tiers g
T=Bm: |

T A ST AT I T STaeT—* 4 iy
S=IA? 7 39 EIATIRII, (481 31241 9R- fish-arg
Fg-THHOI HFEAW: 1" TEET 990 IHAH—
{ TEATATEGAT: 9 36 GO FIROTH T W | 312 g
T =T |

T JEA oM ¥ A9 qEq "erd AR aEq
YEAROT  SfvAfoqHET S| qd A% afe
SRR [heedn SRaael fE3rd | 78 fid
e 9Oy AfeedTan WHfcan | qa: AT VR
A ST | TS 9 Wa=TET: F99: AHaT— &l &
T | eEdfifian: sremfy: JEeETTR: |

(a) TSP TS h: e S 12

(b) T Hreat ATgI IRI?

(c) TReIgEaar #: F= gfaETla w17

(d) % TrRTIOT SIS A qreaf w1l

(e) fHmdn sram: saeda: m?

1

1
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(f) IR NS & TGO TTRAfN w10

(g) YT YIFRT ¥ Forgd A TRgeufe: fohy
=2

(h) TRIEAT: HIF: TRGINTT fH sEaT?

(i) IR, Taufa—s3f e G -giar=:
93 |

G) ‘mEfREm 3 v e wisfa? oft 5 o=
HHaTH foeran |
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